:;i TDA Instruction Manual
SUSPENSION KIT HY-38S

* AARBORBHRABEIEE L SR LIW,

Bl General Description

The HY-38S speaker suspension kit is designed for use with TOA SB-38S, SB-30W and SB-30S low frequency, vented
(bass-reflex) enclosures.

Bl Handling Precautions

e Consult a construction expert to ensure mounting bolts
and cables are made of sufficiently strong material to
securely hold the weight of the speakers.

® Ensure all mounting eyebolts are securely tightened and
can not be loosened by prolonged exposure to speaker
vibration.

® For maximum security, the use of a 6-point suspension
method such as shown in Figure 1 is highly recommended.

® TOA takes no responsibility for accidents or injuries caused by
faulty mounting methods or poorly selected mounting locations.

Figure 1

B Parts List

1. Suspension bracket No.1 4 5. Hex. nut (M12) 4
2. Square washer 4 6. (+) wood screw 16
3. Eyebolt (M12 x 50) 4 7. Spring lock washer (SW4) 16
4. Spring lock washer (SW12) 4 8. Flat washer (W4) 16

Il SB-38S/SB-30W/SB-30S Speaker Installation

The speaker enclosures have been pre-fit with sus-
pension bracket mounting holes. Working from inside
the enclosure, use a screwdriver to push out the hole
plugs from the four locations where the brackets will
be installed. Referring to Figure 2, install the brackets

(+) wood screw
Spring lock washer (SW4)
T Flat washer (W4)

and eyebolts, ensuring all screws are securely tight- Hex. nut (M12)
ened. '

. . Spring lock Suspension bracket No.1
~——Note: Horizontal mounting method for the SB-38S SB-30S washer (SW12)

As shown in Figure 3, an anchor nut for eyebolt
mounting is already installed inside one corner of
the enclosure, therefore only suspension bracket Square washer
No.1 and the eyebolt need be installed at this
location. Refer again to Figure 2 to install the
brackets for the other three points, ensuring all
screws are securely tightened.

Eyebolt (M12 x 50)

This inside
corner only

Figure 2
Figure 3

J Bracket mounting positions for vertical and horizontal
suspension. (4 points each)

% TOA Corporation

4 KOBE, JAPAN
TOA

133-01-334-60



1 TOA BABAE

7545 € Bty 7 HY-38S

* Please see the reverse side for English manual.

N\

R

EHATY 70— vSB-385,9B-30W,SB-30S% 72 1 v/ (mTF) THL&FERTHISA 788y b T,

BB LD EE

R TITRD VAV, RILME 7. BEBEM~ORMHRE
(. BEBTIEC ALY THARETESREZ LT
&N,

OTAMIFEEET DL &I, EEFLONLDIF Y FETAH
fHFTLIEE N,

ODPNEFLEDN S, BEHDL ORI ESTTHLET,

OXEBRA. REH EFORBILIETENEROEEIL. —9
wHiFAVEEA,

M5 B &

1. BFIFSE s 4 5. ABT Y b M2 4
2' %@% ................................ 4 6 +7:L7k;‘7\¢/ 41><20 .............. 16
3L T A BRI EMI2ZKBQ oo 4 T INREES SWA e 16
A NHEES QWIZ weerseeeeeens 4 8. TEER Wi 16

WSB-38S. SB-30W. SB-30S~ME{t%H %

0T/ O— v ZIFEERMMAOANDHSHLHHE
ENTWET, 2EEZBRMITEZTADOKR—ILT S 7% b sk swawg
S L4, QE5EFI245HeE5EF, Fv &

b AESMIFEMT TREECEEL TREEW, h—L
TR0 -y REINS RTAN—=TEE v FbMI2.SWI2
BRIZHEFT,) @

— (3%)SB-38S,SB-30SEKFEF MR TIF 3558 —
SB-385,SB-30S%#/KFEAMIZB T IF5HE. THRIZRT
M1 RFRCIEHSICHTARILFEERO T Y b A
Ir7a0—YvRABICEEENTWETOT, B TFiIFsE
Br7ARIL b EREICRMTTLLIZEN, D3 5F7
[SRIECCARICHEZSEILREFWAS, v b ETH
IR TRREICER L TLIEEW,

T AR M2

BEESLVKFESEICR TIFSSE0E8MGME (B 4477

l\"
L

l O/ \ TOARSEA TOA1/IAX =232 825= | 55135 g

BRCEM Y EEEHEHICHIEALEY, | T TEHSNE2EF 1S
TEL.Q797-72-7567

HHE 9:00~17:00(AR-RAKO e osad 9521354

AL S %A TEL(0ID231-46411% & B R A TEL(0262)26-3628f% 2R B %A TEL(0762)33-19514% X PR & ¥ TEL(06) 358-114I1t  EEVDEEEM TEL(0992)56-5245(%

Eiﬁ E i id TELEmn;zs—s?mﬁ B E AT TEL(025)246-23161% I & *é‘;% B TELEOSSZ) 76- 140118 KIRHESEA TEL(06) 358-11471%  FRIE & ¥ A TEL(0988)66-55361K
82 & B TEL(0196)54~521 11X FEE e T TEL0472)55-61111% BEBEHEF TEL(052)971-821 11 i S PR

s E BB TEL(022)236-6565(C  + o & M 5 TEL(0a8)6as-n13 /B A BB TEL(052)962-57214% E woE ;’; TE‘-Eggggg(‘ggggﬁ -k A TEL(0DI5-8T31f¢

BLE R A TEL(0249)23-T7440%  Fmesmsr TEL(03)3814-271 ¢4 B ¥ TEL(0S9)24-eeasft B *% = i a Et(om)sleset‘& 31?*757 /”ﬁ

------------------------------ A 2 - B R ISEAN - _ e

KEERF T3 sen  HWEBRN TELOOB 720 argaey TL06) 60100/ LB RS TELO89I-iSER K mEEs (o000

PEEEHEA TEL(0286)62-14314% = gg‘rﬁ at TEL (03)3818-4721% AR E A TEL(075)801-73281% e RINEREET TEL(093)581-4722¢(%

B BT TEL(0273)26-3955f¢ =R E TELLNIIGIS-A721Y WA B R TEL(078)577-43261% IR M E % T TEL(092)431-0061 %

% e g Er TEL(0425)84-17111c  #E B3 57 TEL(054)237-88501% 3R % # B TEL(0722)21-6665(¢  HER B B AT TEL(096)384-1612% 133-01-334-60



